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st oere]  :1.30 wanfl Cprb ] [ Qurss wEHlIQuaTsear @ 40
Time Allowed : 1.30 Hours ] [ Maximum Marks : 40
ofleyenraar : (1) ooasg alamssess sfuresl uslaurdl e eaiatar aarugmend slumtsgis

Qaretateynd. FslusSlelle  @eapullmliller, o@néseantsreaflliurerilb

o Lanqunas Qsilellésald.

(2) ped SO G) S(HLIL e LouSlen e L HCw CT(LPSHIUSD GLD
2lg5Canghausn@ld LwuaTURSS Ceuant(Hd. ULBSET  euaTeusn &

Queéled LWaTLHSSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
u@é] -1 / PART - |

GOy : (i) DG F allanésErs Gl allnwallssayLd. 5x1=5
(i)  Ger@ésuu’ (Herer Brar@ wrmn elmLsalled Blsaw ghyamLw allomws
Caih0s(0s816 GO GLear allomLwWlmeann Csisg er(psaibd.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write the

option code and the corresponding answer.

1. BPlova imasalle em san, iIBNE 2068 adlissamalng Yo Cuwrar Qsramaa, :
3A

(@) 2 (@) 3 @ 2 M A
In stationary waves, the distance between a node and its neighbouring anti-node is:
A A 3
@ 3 G © 5 @ A
2. 10 Q&8 Fard Qareni epiqw o iser GLTUlen gt oygliCleuen :
(=) 4.5VHz (9},) 2.5VvHz (®) 10vHz (rF) 2 VHz
The fundamental frequency of closed organ pipe whose length is 10 cm is:
(@) 4.5 vHz (b) 2.5 VHz (c) 10 vHz (d) 2 VHz
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3.

gY @O Lapdled erg Djmaamws Gnlssng ?

() —= (<) sin (x + vt) @) (x—wt)3 (/) x(x + vt)
Which of the following represents a wave?
(@ — (b)  sin (x + vt) ©)  (x—vt) d)  x(x+vt)

FILLSL o wmbGUTg @6l omewllsd Frlussslar ellamere| eraleumm @me@w
(=) @ swawllar Causbd sglsllsgn (<) @l smalar Casb Gampub

@) @l owaular Gausd DT () @l oemaular Gaushd sblume
What is the effect of humidity on sound waves when humidity increases?
(@) Speed of sound waves increases (b) Speed of sound waves decreases

(c) Speed of sound waves remains same  (d) Speed of sound waves becomes zero
Qreanr () @) @masar wWapGw 5.0 1§ whod 5.5 B omebend QsramrLg). geCeureamnLd
330 /&)l SlemeCassdl em aryele uredlapear em allamese Ulaeamn allboe
glqlIsetlar erenanflé s erelyunyé&sLiLBSng:

(=) 12 (=) O @) 6 (m) 1

Two sound waves with wavelength 5.0 m and 5.5 m respectively, each propagate in a gas with
velocity 330 m/s. We expect the following number of beats per second:

(@) 12 (b) 0 (c) 6 (d) 1

u@g -1l / PART - 1l

GOy : aamaiCuead BrarE allamssens@ allm wafllsseb. allam eranr 11-&@ &L LTwons

Note

6.

@ﬂml_u_laﬂéaaamlb. 4x2=8
. Answer any four questions. Question No. 11 is compulsory.

2h$50 5SS Gré]r'résaa@n, 5@@%}@ GeLlul L Cgreneeneud &S &\(HS.
Compute the distance between anti-node and neighbouring node.

any @, eolllar gmsCaussms LTHlE@EL srratlsmer 6 (pgs.
Write down the factors affecting velocity of sound in gases.

Lmier alleneralled SleuliLy wpmid Heo GLiCuwisslamer allers@s.
Explain red shift and blue shift in Doppler effect.

@m @sCusl 900 MHz oigliCeuan o amLw asmssmar Cavallallpdng. esCuél Camypd
e Qeuallalipn omawilar e Hearbd sramrs.
A mobile phone tower transmits a wave signal of frequency 900 MHz. Calculate the length of
the waves transmitted from the mobile phone tower.

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://www.youtube.com/@Padasalai-net
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net www.Trb Tnpsc.Com
3 1110511

10. @&sdliays smms swu smalllle Wwoasdmssn aapra eraar ?
What is meant by end correction in resonance air column apparatus?

11.  oBliemw Qm Qmsssmasa Cermmnells@n masalla omes swaur@ser yi =5
sin(240 mt) pmid Y2 = 4 sin(244 mt) Caragid eSlbwersallear ereanrailsmaamws sarsdlHs.
Two vibrating tuning forks produce waves whose equation is given by y1 =5 sin(240mt) and
y2 = 4 sin(244mt). Compute the number of beats per second.

ugsl - Il / PART - I

GOy : aaaiCuad prarg allamssens@ allwiwallsseb. allam eranr 17-&@ &L LTwors
@ﬂml_u_laﬂéaaamlb. 4x3=12
Note : Answer any four questions. Question No. 17 is compulsory.

12. @nssoeser wopd Gl Lasmer Caunu(hsgs.
Write the differences between transverse and longitudinal waves.

13.  Lmlery elenerency alleTé .
Explain Doppler Effect.

14. 396 msteaip SlewsCausssler Qgaaund, 99 cm wHmd 100 cM emeBarEiIamer ClsmenL
Smsem GnEsSL( almaallhe oL upnd Curg em ellamguiled ghu@L allbwasefle
cTewT amflg ansenil SHemrd (5 s.

Two waves of wavelength 99 cm and 100 cm both travelling with the velocity of 396 ms-1 are
made to interfere. Calculate the number of beats produced by them per sec.

15. y=x+a eamp Qsr_illhE UL cmrs. ms ellersEs.
Sketch the function y = x + a. Explain your sketch.

16. eslQpmedl erapred erae ? @llemd @ s.
What is meant by an echo?. Explain.

17. 5 m, bm @apead Carar_ Qrav(h @ masmes SmHas. Qames Grar(Hb euryy
gadles 330 ms? glwsCassglLar Osadlapar ealed, em olamguile UL
A SHeTlerr 6TewT ewtls: TS HTeT .
Consider two sound waves with wavelength 5 m and 6 m. If these two waves propagate in a
gas with velocity 330 ms1. Calculate the number of beats per sound.
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u@g = IV / PART - IV

GOy : Smarsg allamssE@rsEn allamlwallssaLb. 3x5=15
. Answer all the questions.

Note

18.

19.

20.

(<)

@685Te) sOLSE smallw LuaTLBSS smmdlar eadlllar SosGassms 26TsELw
epew allersEs.

DG
g piaa Guiuile Cuparmse gpubeums alldarésallb.

How will you determine the velocity of sound using resonance air column apparatus?
OR
Explain how overtones are produced in a closed organ pipe.

srmold, eadlllar glmsCassdlhena Byl L e swaum mil Quns. oo
omeaa Slnsssms allauflssaln.
DO ag)

srone erapred eraien ? Disa el wpnd Came Qeuiyd allssms
euflssayd. sroralowl LwaLBss Qmessmalar oglTeuamTameanT 6releuTm)
SleTliumul ?
Derive Newton’s formula for velocity of sound waves in air. Explain the
Laplace’s correction in it.

OR

What is a Sonometer? Give its construction and working. Explain how to determine the
frequency of tuning fork using Sonometer.

(i) Lrliert elleneTey ereimpred eraia ?
(i) epod Qusssslad, Csl Laf guialgid

(A) e Gsluemy Crrésl Qumew Gurg

(B) o Csluafdmbg elladls Qsadqid Gurg gpuBsla

CaL enrt LHmID epe SlTQeuamrencanr allers @s.
DO g

Blene DMOS6T erapied eraa ? Blena emese ghuBeuams allers Es.
(i) What is meant by DOPPLER effect?

Explain the observed and source frequency in the following cases.

(i) Source in motion and observer at rest
(A) Source moves towards observer.
(B) Source moves away from the observer
OR

What are stationary waves? Explain the formation of stationary waves.
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